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Made in Ron 37 2.219

2mmol 10mL RB flask
From 38 Instructions

0.24g of Chalcone

What mmol scale is reaction 38

Howmany mmol Chalcone is 0.24g
How many mmol Ethylacetoacetate is o 15g

45420 208.27gInde

HeoOz 130.14glmole

moleChal 1000mmolChot 1,2mmolChalcone
0.24gChalcone z gchal moleChal

0.15gEthylacetoacetate x x 1 1.2mmolEthylaceto
130.14g i mole acetate

1 I Ratio 1,2mmol



oc Desired scale
scalefactor 1.671 2mmol Existing scale

multiply all values by 1.67 to make a

2mmol Reaction
Assumed I

Chalcones 0.24g X 1.67 0 40g 0.40mL

Ethylacetoacetate 0.15 1.67 o 25g 0.25mL

Etat 5.0mL x 1.67 8.35mL

NaOH 0.25mL x 1.67 0 42mL

Total Ren Volume 9.42mL

work up 2mL DI H2O x 1.67 3.67 uh

Total volume 13.09 mL

5mL
LO ul
25mL f IT

1 full 10

50 mL I

Loo web

250 mL



From Last Class Calculations for Exp 37

GqHqOz 136.15gImd

Given If It 0.004md x 136,25dL 0.545g
0 4mmol

I 0.50interEtat o 8mL x 4 3.2mL

4mmol x 1.03 NaOH 0.10mL x 4 0.4mL

4 x or 12mL
0.48mL t 4 x 2mL DI workup 8mL

Total Volume 0.48 t 0.5 t 3.2 to 4 t 8
12.58 orb

RB flask size Required25m74

Examples
Assigned 4 Nitro derivative

4mmol O f
O004m01 x 439 o 54g

o Hea N02 174 17 NoaEtat 3.2mL HE
0.48mL NaOH0.4mL
0.49g

2mmol o O

II 04 470.25g
no 8 su I

NoaNaOH0.42mL l

253.269 0.51gG 002m01 x i moi
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Cool Run down Run 0 C

Decrease ta NaOH 2drops of 2 2 ILess Nacht

Possibly reduce cone of Reaction
w more solvers

order of additions


